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(1-1) X4 (L490S)- R—RX &RtV

AR (BE) 1ty dHT-YIEH =2 {l4&
_ EEF10% (H/19h) (H/7=2) (kg)
<YNSK-8>
8tk 5,500 <[5,000] 44,000
(KHEg+a'—A 2 HBA) <—[40,000]
<YNSK-4>
A9k 6,050 (5,500 24,200
(KHE4+a -2 2 E4R) <—[22,000]
<YNSK-2>
2k 6,600 (5,000 13,200
(KHE2+a —R 2 H2A) <—[12,000]
<YNSK-1>
1yh 7,150 <[6,500] 1,150
A+ —2EBIA) <[6.500]
(12)R—XER (GZREZBFIATHSE8E8. R—XEEDBANRDLETY)
g (BEIEABEUEH 7w
JEEFR10% (H/tyh) (H/5-2) (kg)
<YNK-16>
161E A 2,640 —[2,400] 42,240
(AN-2AEE16A) —[38,400]
<YNK-8>
S{E A 2,750 —[2500] 22,000
(N-2%£ B8 A) —[20,000]
<YNK-4>
4@ A 2,860 —[2,600] 11,440
(N-2&EB4N) <—[10,400]
<YNK-2>
2{E A 3,410 —[3,100] 6,820
(N-2£82A) <[6.200]
(2-1) B RR 2R yME S 25 x 25+4 x 4) £ FEEAO—F{+ (H500 % L2,700mm)
<mE> BEoA - & FhA TS () - .
AR (Z&) 1ty =Y IEH it 3
SEHEFI10% (F/t9h) (B/5-2) (kg)
<YN-4>
4yt A 6,600 —[6,000] 26,400
(RERYMA) <—[24,000]
<YN-3>
3tk A 7,040 —[6,400] 21,120
(REFYFIA) <—[19,200]
<YN-2>
2ty A 7,480 —[6,800] 14,960
(RERYF2A) —[13,600]
<YN-1>
1tvyk A 8,800 —[8,000] 8,800
(REFRYMA) —[8,000]




